

HITE

Culvert

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

SH-P

REO NUMBER 6612C014

ADDRESS CORRESPONDENCE TO ATTENTION OF

ADDRESS CHANGES TO BE NOTED ABOVE

PAUL REYNOLDS 304-558-0468

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

	RFQ COPY
	TYPE NAME/ADDRESS HERE
	P.O. Box 4545
1	P.O. Box 4545 Louisville, KY 40204
	X917093307

DATE PRINT	reb .	TER	MS OF SAI	E	SHIP	VIA · · · ·	F.O.8.		FREIGHT TERMS
10/19/	2011								
BID OPENING DATE:	,	11/09/	2011			BID	OPENING TIME	01:	30PM
LINE	QUA	NTITY	UOP	ÇAT. NO.	ITEM N	JMBER	UNIT PRICE	24 4 0	AMOUNT
0001	CULVER	RT CONS	EA TRUCT	l	968-27 PIPE				
	*1			250	ST FOR Q				
	AGENCY SOLICI CULVER	THE WITING BRIDE	EST V IDS F LINE	IRGIN OR AN R AND	OPEN EN CULVERT	ION OF H D CONTRA INLET B	ISION FOR THE IGHWAYS IS CT TO PROVIDE ELLS FOR ALL FICATIONS.		
	UPON AYEAR ONECESSORIGINOT EXTIME"	OF CONTAWARD A OR UNTI SARY TO NAL CON (CEED T THE VE	ND EX L SUC OBTA TRACT WELVE NDOR GIVIN	TENDS H "RE IN A TH (12) MAY T	FOR A PASONABLE NEW CONT E "REASO MONTHS. ERMINATE	ERIOD OF TIME" T RACT OR NABLE TI DURING THIS CO	MES EFFECTIVE ONE (1) HEREAFTER AS RENEW THE ME" PERIOD SH THIS "REASON NTRACT FOR AN	IS ALL ABLE Y	
×	UNLESS IN THI PRICIN CONTRA	S SPECI IS CONT NG SET ACT.	FIC P RACT HEREI	DOCUM N ARE	ENT, THE FIRM FO	TERMS, R THE LI	TED ELSEWHERE CONDITIONS AN FE OF THE	D	I NOVELVED
	RENEWA	AL: THI	s con	TRACT	A BE	RENEWED	UPON THE MUTU	AL.	1 NOV -7 A 9: 42
****				. AFF BF	VEGAL OBE PAR	TEDMO AND CO	MOTIONS		SUAG DIVISION
SIGNATURE	7			SEERE	VERSE SIDE FOR	TELEPHONE	A S A S A S A S A S A S A S A S A S A S	DATE	
Gai	Hait	1				502-	939-9909	//-	-2-11

61-0600157 WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- The State may accept or reject in part, or in whole, any bid.

3. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division

and have paid the required \$125 fee.

- 4. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods this Purchase Order/Contract becomes void and of no effect after June 30.
- 5. Payment may only be made after the delivery and acceptance of goods or services.
- 6. Interest may be paid for late payment in accordance with the West Virginia Code.
- 7. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 8. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes
- 9. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 10. The laws of the State of West Virginia ar A he Legislative Rules of the Purchasing Division shall govern the purchasing process.
- 11. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 12. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 13. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, is available online at www.state.wv.us/admin/purchase/vrc/hipaa.htm and is hereby made part of the agreement. Provided that the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 14. CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures, and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/noticeConfidentiality.pdf.
- 15. LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, and the West Virginia Insurance Commission. The vendor must provide all necessary releases to obtain information to enable the director or spending unit to verify that the vendor is licensed and in good standing with the above entities.
- 16. ANTITRUST: In submitting a bid to any agency for the State of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the State of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the State of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the State of West Virg Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership, or person or entity submitting a bid for the same material, supplies, equipment or services and is in all respects fair and without collusion or Fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division. Complete all sections of the quotation form.
- 2. Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.

3. Unit prices shall prevail in case of discrepancy. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.

- 4. All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130
- 5. Communication during the solicitation, bid, evaluation or award periods, except through the Purchasing Division, is strictly prohibited (W.Va. C.S.R. §148-1-6.6).



Culvert

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

REQ NUMBER

PAGE

6612C014

. ADDRESS CORRESPONDENCE TO ATTENTION OF

PAUL REYNOLDS 304-558-0468

ADDRESS CORRESPONDENCE TO AUL REYNOLDS

REQ COPY
TYPE NAME/ADDRESS HERE
Y ISCO Industries, LLC.
P.O. Box 4545
Louisville, KY 40204
X 917093307

\$H-p -p

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

FREIGHT TERMS DATE PRINTED TERMS OF SALE SHIP VIA 10/19/2011 BID OPENING TIME 01:30PM BID OPENING DATE: 11/09/2011 AMOUNT CAT. UNIT PRICE ITEM NUMBER QUANTITY. UOP LINE WRITTEN CONSENT OF THE SENDING UNIT AND VENDOR, SUBMITTED TO THE DIRECTOR OF PURCHASING THIRTY (30) DAYS PRIOR TO THE EXPIRATION DATE. SUCH RENEWAL SHALL BE IN ACCORDANCE WITH THE TERMS AND CONDITIONS OF THE ORIGINAL CONTRACT AND SHALL BE LIMITED TO TWO (2) ONE (1) YEAR PERIODS. CANCELLATION: THE DIRECTOR OF PURCHASING RESERVES THE RIGHT TO CANCEL THIS CONTRACT IMMEDIATELY UPON WRITTEN NOTICE TO THE VENDOR IF THE COMMODITIES AND/OR SERVICES SUPPLIED ARE OF AN INFERIOR QUALITY OR DO NOT CONFORM TO THE SPECIFICATIONS OF THE BID AND CONTRACT HEREIN. OPEN MARKET CLAUSE: THE DIRECTOR OF PURCHASING MAY AUTHORIZE A SPENDING UNIT TO PURCHASE ON THE OPEN MARKET, WITHOUT THE FILING OF A REQUISITION OR COST ESTIMATE, ITEMS SPECIFIED ON THIS CONTRACT FOR IMMEDIATE DELIVERY IN EMERGENCIES DUE TO UNFORESEEN CAUSES (INCLUDING BUT NOT LIMITED TO DELAYS IN TRANS-PORTATION OR AN UNANTICIPATED INCREASE IN THE VOLUME OF WORK.) QUANTITIES: QUANTITIES 'TSTED IN THE REQUISITION ARE APPROXIMATIONS ONLY, B. D ON ESTIMATES SUPPLIED BY THE STATE SPENDING UNIT. IT IS UNDERSTOOD AND AGREED THAT THE CONTRACT SHALL COVER THE QUANTITIES ACTUALLY ORDERED FOR DELIVERY DURING THE TERM OF THE CONTRACT, WHETHER MORE OR LESS THAN THE QUANTITIES SHOWN. ORDERING PROCEDURE: SPENDING UNIT(S) SHALL ISSUE A WRITTEN STATE CONTRACT ORDER (FORM NUMBER WV-39) TO THE VENDOR FOR COMMODITIES COVERED BY THIS CONTRACT. THE ORIGINAL COPY OF THE WV-39 SHALL BE MAILED TO THE VENDOR AS AUTHORIZATION FOR SHIPMENT, A SECOND COPY MAILED TO THE PURCHASING DIVISION, AND A THIRD COPY RETAINED BY THE SPENDING UNIT. SEE REVERSE SIDE FOR TERMS AND CONDITIONS TELEPHONE SIGNATURE -939-9909 11-2-11 TITLE ADDRESS CHANGES TO BE NOTED ABOVE

WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

61-0600157



SIGNATURE

Colvert

REQ COPY

TYPE NAME/ADDRESS HERE

ISCO Industries, LLC.

TSCO Industria,

P.O. Box 4545

Louisville, KY 40204

X 917093307

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

BFQ NUMBER

6612C014

11-2-11

ADDRESS CHANGES TO BE NOTED ABOVE

ADDRESS CORRESPONDENCE TO ATTENTION OF	
TREBLES VOUDECDURINGMER IN VITEWHEN DE	
VINNESS CONNEST CHOCKED IN VITALION OF	٠.

PAUL REYNOLDS 304-558-0468

P

DIVISION OF HIGHWAYS VARIOUS LOCALES AS INDICATED BY ORDER

FREIGHT TERMS F.O.B. SHIP VIA TERMS OF SALE DATE PRINTED : 10/19/2011 01:30PM BID OPENING TIME BID OPENING DATE: 11/09/2011 CAT. UNIT PRICE AMOUNT ITEM NUMBER UOP QUANTITY BANKRUPTCY: IN THE EVENT THE VENDOR/CONTRACTOR FILES FOR BANKRUPTICY PROTECTION, THE STATE MAY DEEM THE CONTRACT NULL AND VOID, AND TERMINATE SUCH CONTRACT WITHOUT FURTHER ORDER. THE TERMS AND CONDITIONS CONTAINED IN THIS CONTRACT SHALL SUPERSEDE ANY AND ALL SUBSEQUENT TERMS AND CONDITIONS WHICH MAY APPEAR ON ANY ATTACHED PRINTED DOCUMENTS SUCH AS PRICE LISTS, ORDER FORMS, SALES AGREEMENTS OR MAINTENANCE AGREEMENTS, INCLUDING ANY ELECTRONIC MEDIUM SUCH AS CD-ROM. REV, 05/26/2009 NOTITO" A SIGNED BID MUST BE SUBMITTED TO: DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 25305-0130 THE BID SHOULD CONTAIN THIS INFORMATION ON THE FACE OF THE ENVELOPE OR THE BID MAY NOT BE CONSIDERED: SEALED BID FILE 33 PAUL REYNOLDS BUYER: 6612C014 REQ. NO.: BID OPENING DATE: 11/09/2011 SEE REVERSE SIDE FOR TERMS AND CONDITIONS

> 61-0600157 WHEN RESPONDING TO RFQ, INSERT NAME AND ADDRESS IN SPACE ABOVE LABELED 'VENDOR'

502



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

¬ quest for uotation

AFONUMBER 6612C014 PAGE 4

ADDRESS CORRESPONDENCE TO ATTENTION OF

PAUL REYNOLDS 304-558-0468

REQ COPY
TYPE NAME/ADDRESS HERE
TSCO Industries, LLC.
P.O. Box 4545
Louisville, KY 40204
917093307

SH P P TO

DIVISION OF HIGHWAYS
VARIOUS LOCALES AS INDICATED
BY ORDER

DATE PRINTED		TER	AS OF SAL	Ė	SHIP VIA		F.O.B.	FREIGHT TERMS
10/19/20	11							
BID OPENING DATE:	1	1/09/	2011			BID	OPENING TIME (1:30PM
LINE	QUANT	iŤΥ	POP	CAT. NO.	ITEM NUMBI	ER	UNIT PRICE	AMOUNT
вт	D OPE	NING	TIME:		01:30 P.M.			
					UMBER IN C NG YOUR BI SO2-568	D:	IS NECESSARY	
CO	NTACT	PERS			PRINT CLE 7 Harring			
**	****	THIS	IS T	HE EN	D OF RFQ	66120	014 ***** TOTA	
			1100					
etovisting T				SEE RE	VERSE SIDE FOR TEL	RMS AND CO	NDITIONS DATE	c .
SIGNATURE TO BE	ii ()					502	-939-9909	11-2-11
Culvert Lining	Sales	Mar. Fi	6/- C	0600	157		ADDRESS CHANG	SES TO BE NOTED ABOVE

1. SPECIFICATIONS

The following sections of the West Virginia Department of Transportation, Division of Highways Standard Specifications Roads and Bridges, adopted 2010 as modified by the January 1, 2011 Supplemental Specifications shall apply to the administration of this contract: Sections 101, 105.11, 106.3, 106.4, 106.5, 106.6, 106.7, 106.9, 107.2, 107.3, 107.14, 107.19, 107.20, 108.8, 108.9, 109.1, 109.2 and 109.20.

The terms "Contractor" and "Ven used in the above specifications of this contract are interchangeable. Contractor shall mean Vendor and Vendor shall mean Contractor.

West Virginia Department of Transportation, Division of Highways' Standard Specifications Roads and Bridges, adopted 2010 as modified by the January 1, 2011 Supplemental Specifications may be obtained from:

West Virginia Division of Highways Contract Administration Building 5, Room 722 1900 Kanawha Blvd., East Charleston, West Virginia 25305 Phone: 304-558-2885

http://www.transportation.wv.gov/highways/contractadmin/specifications/2010StandSpec/Pages/default.aspx

2. SCOPE OF WORK

To furnish culvert pipe liner and culvert inlet bells to the Division of Highways for all ten Districts to be delivered to Division of Highways' project sites and/or Division of Highways' District storage yards located throughout the State.

3. REQUIREMENTS

Culvert pipe liners and culvert inlet bells requested on Bid Schedule 9, 10 and 11 shall be manufactured in accordance with American Association of State Highway Official Standard Specification, AASHTO Designation M326-08. Reference: http://transportation.org.

Culvert pipe liners requested on Bid Schedule 12 and 13 shall be manufactured in accordance with American Society for Testing and Materials, ASTM F894 and shall be closed profile as defined in ASTM F894. Pipe is internal diameter controlled and shall be produced

with bell and spigot end construction with either a gasket or electrofusion joints. Reference: www.astm.org.

All lubricant, gaskets and sealants necessary for installation shall be supplied by the awarded vendor at no additional cost.

4. BIDDING INSTRUCTIONS

Bidders may submit bids for any or all sizes of culvert pipe liner and culvert inlet bells listed on all bid schedules.

All sizes of culvert pipe liner requested on Bid Schedules 9 and 10 are for outside diameter of liner in inches.

All culvert inlet bells requested on Bid Schedule 11 shall fit each diameter size of culvert pipe liner listed on Bid Schedules 9 and 10.

All sizes of culvert pipe liner requested on Bid Schedules 12 and 13 are for inside diameter of liner in inches.

NOTE:

Bid Schedule 9 and 12 = Price per foot In-Stock Lengths Bidder must provide In-Stock Length(s) with bid.

Bid Schedule 10 and 13 = Price per foot for Non-Stock Lengths At the time of need, the Non-Stock Length will be provided to the awarded Vendor on the Agency Release.

Bidders should be aware that the quantities listed on ALL Bid Schedules are estimates only.

Any qualification of bids or any modification of the specifications or conditions governing the bids may be cause for their rejection.

CONTRACT AWARD

Qualified vendors who submit a valid low bid will be awarded a contract for those items for which their bid is lowest per Distric. The State of West Virginia reserves the right to make multiple awards on this contract which it is in the best interest of the State.

6. DELIVERY

An Agency Release will be issued to the awarded Vendor at the time delivery is needed. The Agency Release will provide the actual quantity of culvert pipe liner and/or culvert inlet bells needed along with the Division of Highways project site address and/or the Division of Highways District storage site address and will also include a Division of Highways' contact's name and phone number.

The vendor shall notify the Division of Highways' contact listed on the Agency Release forty-eight (48) hours in advance of delivery to ensure personnel are available for unloading.

Delivery will be FOB Origin, Freight Prepaid and Added to the invoice.

VENDOR'S INVOICE

Vendor's invoices must be submitted in original and one copy and contain the following:

- a. The Agency Release Number and this Contract Number.
- Item number and description, total quantity, unit price and the total cost of the material furnished.
- c. Prepaid Freight charges.

Note: Under no circumstance will the Division of Highways accept, or pay-for, quantities of material in excess of the quantity stated on the Agency Release.

8. PURCHASING CARD ACCEPTANCE

The State of West Virginia current! "Ilizes a VISA Purchasing Card Program which is issued through a bank. The successful venuor must accept the State of West Virginia VISA Purchasing Card for payment of orders placed by any State agency for orders as a condition of award.

9. Bid Schedule 6612C (*) '
Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 1</u> - Boone County, Clay County, Kanawha County, Mason County and Putnam County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	136	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014
Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide 3tock length(s) in the space below with bid. Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 2</u> - Cabell County, Lincoln County, Logan County, Mingo County and Wayne County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	18 —	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. 6612C014 Bid Schedule Price per foot In-Stock Length(s) ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24'

District 3 - Calhoun County, Jackson County, Pleasants County, Ritchie County, Roa. County, Wirt County and Wood County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	(18)	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014
Price per foot In-Stock Leng (s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 4</u> - Doddridge County, Harrison County, Marion County, Monongalia County, Preston County and Taylor County

14 44	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
Item #				
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100 🗇	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014
Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet Stock Length 20"-63" 24' feet

<u>District 5</u> - Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50 🧥	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 6</u> - Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	FA	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

6612C014 9. Bid Schedule Price per foot In-Stock Length(s) ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide ' Stock length(s) in the space below with bid. Stock Length 10.75"-15" 21' feet

Stock Length 20"-63" 24'

<u>District 7</u> - Barbour County, Braxton County, Gilbert County, Lewis County, Upshur County and Webster County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	1 1/2	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014

Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid. Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 8</u> - Pendleton County, Pocahontas County, Randolph County and Tucker County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	. 4	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014

Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet

Stock Length 20"-63" 24' feet

<u>District 9</u> - Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	65	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	100	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63" ,	50	\$452.68	\$22,634.00

9. Bid Schedule 6612C014
Price per foot In-Stock Length(s)

ISCO Industries, LLC.

OUTSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 10.75"-18" 21' feet Stock Length 20"-63 0.4' feet

<u>District 10</u> - McDowell County, Mercer County, Raleigh County and Wyoming County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
1	10.75"	50	\$20.02	\$1,001.00
2	12.75"	50	\$22.32	\$1,116.00
3	14"	50	\$24.89	\$1,244.50
4	16"	50	\$30.92	\$1,546.00
5	18"	50	\$38.90	\$1,945.00
6	20"	50	\$48.59	\$2,429.50
7	22"	100	\$54.28	\$5,428.00
8	24"	100	\$64.55	\$6,455.00
9	28"	100	\$87.97	\$8,797.00
10	30"	100	\$100.92	\$10,092.00
11	32"	198	\$114.88	\$11,488.00
12	36"	100	\$145.37	\$14,537.00
13	42"	100	\$197.75	\$19,775.00
14	48"	50	\$258.37	\$12,918.50
15	54"	50	\$327.07	\$16,353.50
16	63"	50	\$452.68	\$22,634.00

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 1</u> - Boone County, Clay County, Kanawha
County, Mason County and Putnam County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	7.00	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

F

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-St & Length(s)

OUTSIDE Diameter in Line in Inches.

<u>District 2</u> - Cabell County, Lincoln County, Logan County, Mingo County and Wayne County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 3</u> - Calhoun County, Jackson County, Pleasants County, Ritchie County, Roane County, Wirt County and Wood County

	Outside Diameter	Estimated	Unit Price	Extended
Item#	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	(V)	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

0

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 4</u> - Doddridge County, Harrison County, Marion County, Monongalia (5) Inty, Preston County and Taylor County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00 —
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	(!)	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

10. Bid Schedule 6612C014

ISCO Industries, LLC.

Price per foot for Non-Sf (5) Length(s)
OUTSIDE Diameter in Liner in Inches.

<u>District 5</u> - Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	19	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 6</u> - Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	170	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 7</u> - Barbour County, Braxton County, Gilbert County, Lewis County, Upshur County and Webster County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	10	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 8</u> - Pendleton County, Pocahontas County, Randolph County and Tucker County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	1.0	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

15

10. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 9</u> - Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County

	Outside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"		\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	100	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50



10. Bid Schedule

6612C ...+

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

OUTSIDE Diameter in Liner in Inches.

<u>District 10</u> - McDowell County, Mercer County, Raleigh County and Wyoming County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
17	10.75"	50	\$24.86	\$1,243.00
18	12.75"	50	\$27.73	\$1,386.50
19	14"	50	\$30.92	\$1,546.00
20	16"	50	\$38.41	\$1,920.50
21	18"	50	\$48.33	\$2,416.50
22	20"	50	\$60.36	\$3,018.00
23	22"	100	\$67.42	\$6,742.00
24	24"	100	\$80.18	\$8,018.00
25	28"	1.3	\$109.28	\$10,928.00
26	30"	100	\$125.37	\$12,537.00
27	32"	100	\$142.70	\$14,270.00
28	36"	100	\$180.58	\$18,058.00
29	42"	100	\$245.65	\$24,565.00
30	48"	50	\$320.96	\$16,048.00
31	54"	50	\$406.30	\$20,315.00
32	63"	50	\$562.33	\$28,116.50

11 Bid Schedule

6612C014

ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 1</u> - Boone County, Clay County, Kanawha County, Mason County and Putnam County

	Outside Diameter	Estimated	Unit Price Each	Extended Cost
Item #	of Liner in Inches	Quantity		
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	*/- NJ	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule

6612C014

ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 2</u> - Cabell County, Lincoln County, Logan County, Mingo County and Wayne County

	Outside Diameter	Estimated		Extended
Item #	of Liner in Inches	Quantity	Unit Price Each	Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	1	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule 6612C014 ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

District 3 - Calhoun County, Jackson County, Pleasants County, Ritchie County, Roa ♥ County, Wirt County and Wood County

	Outside Diameter	Estimated		Extended
Item #	of Liner in Inches	Quantity	Unit Price Each	Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	10	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

0

Vendor Name:

11 Bid Schedule

6612C014

ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 4</u> - Doddridge County, Harrison County, Marion County, Monongalia County, Preston County and Taylor County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Each	Extended Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	1	\$4,356.00	\$17,424.00
40	24"	.)	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule 6612C014 ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 5</u> - Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County

Item #	Outside Diameter of Liner in Inches	Estimated Quantity	Unit Price Each	Extended Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	30	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule 6612C014 ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 6</u> - Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County

14 11	Outside Diameter	Estimated	Unit Price Each	Extended Cost
Item #	of Liner in Inches	Quantity		
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	\$	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

1

11 Bid Schedule 6612C014 ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of line ted below.

<u>District 7</u> - Barbour County, Braxton County, Gilbert County, Lewis County, Upshur County and Webster County

	Outside Diameter	Estimated	H M D M E v E	Extended
Item #	of Liner in Inches	Quantity	Unit Price Each	Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	Ç.	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule

6612C014

ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 8</u> - Pendleton County, Pocahontas County, Randolph County and Tucker County

	Outside Diameter	Estimated		Extended
Item #	of Liner in Inches	Quantity	Unit Price Each	Cost
33	10.75"	~	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11

11 Bid Schedule 6612C ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 9</u> - Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County

	Outside Diameter	Estimated		Extended
Item #	of Liner in Inches	Quantity	Unit Price Each	Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	100	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	2	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

11 Bid Schedule

6612C014

ISCO Industries, LLC.

Price per each. Culvert inlet bells to fit each diameter of liner listed below.

<u>District 10</u> - McDowell County, Mercer County, Raleigh County and Wyoming County

Item #	Outside Diameter of Liner in Inches	Estin Led Quantity	Unit Price Each	Extended Cost
33	10.75"	2	\$792.00	\$1,584.00
34	12.75"	2	\$948.00	\$1,896.00
35	14"	2	\$1,176.00	\$2,352.00
36	16"	2	\$1,404.00	\$2,808.00
37	18"	2	\$1,830.00	\$3,660.00
38	20"	2	\$3,744.00	\$7,488.00
39	22"	4	\$4,356.00	\$17,424.00
40	24"	4	\$4,908.00	\$19,632.00
41	28"	4	\$5,376.00	\$21,504.00
42	30"	4	\$6,600.00	\$26,400.00
43	32"	4	\$7,212.00	\$28,848.00
44	36"	4	\$7,860.00	\$31,440.00
45	42"	4	\$8,712.00	\$34,848.00
46	48"	2	\$10,350.00	\$20,700.00
47	54"	(1)	\$11,922.00	\$23,844.00
48	63"	2	\$13,374.00	\$26,748.00

12. Bid Schedule 6612C014 ISC Price per foot In-Stock Length(s) INSIDE Diameter in Liner in Inches.

ISCO Industries, LLC.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 60"-96" 20'

feet

Stock Length _____feet

<u>District 1</u> - Boone County, Clay County, Kanawha County, Mason County and Putnam County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

<u>District 2</u> - Cabell County, Lincoln County, Logan County, Mingo County and Wayne County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

.

12.	Bid Schedule	6612C014	ISCO Industries, LLC.	
	Price per foot li	n-Stock Length	n(s)	
	INSIDE Diamete	r in Liner in Incl	hes.	
	Vendor mus	st provide In-Sto	ock length(s) in the space below with b	id.
		th 60"-96" 20'		
	Stock Leng	h	feet	

<u>District 3</u> - Calhoun County, Jockson County, Pleasants County, Ritchie County, Roane County, Wirt County and Wood County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

<u>District 4</u> - Doddridge County, Harrison County, Marion County, Monongalia County, Preston County and Taylor County

Item #	Inside Diameter of Liner in Inches	Estimated Quanti	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

12. Bid Schedule 6612C014

Price per foot In-Stock Length(s)

ISCO Industries, LLC.

INSIDE Diameter in Liner in Inches.

Vendor must provide In-Stock length(s) in the space below with bid.

Stock Length 60"-96" 20'

feet

Stock Length _____

feet

<u>District 5</u> - Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

<u>District 6</u> - Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

12.	Bid Schedule	6612C014	ISCO Industries, LLC.
	Price per foot I	n-Stock Length	ı(s)
	INSIDE Diamete		
	Vendor mus	st provide In-Sto	ock length(s) in the space below with bid
	Stock Leng	th 60"-96" 20'	feet
	Stock Leng	th	feet

<u>District 7</u> - Barbour County, Laxton County, Gilbert County, Lewis County, Upshur County and Webster County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

<u>District 8</u> - Pendleton County, Pocahontas County, Randolph County and Tucker County

Item #	Inside Diameter of Liner in Inches	Estimat Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

12.	Bid Schedule Price per foot I	6612C014 n-Stock Leng	PARTIES TO CONTROL STORM TO THE STORM THE CONTROL STORM TO STORM THE STORM TO STORM THE STORM TH
	INSIDE Diameter in Liner in Inches.		
		th 60"-96" 20	

<u>District 9</u> - Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County

Item #	Inside Diameter of Liner in Inches	Estimat () Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

<u>District 10</u> - McDowell County, Mercer County, Raleigh County and Wyoming County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
49	60"	50	\$257.00	\$12,850.00
50	66"	50	\$286.00	\$14,300.00
51	72"	50	\$323.00	\$16,150.00
52	78"	50	\$384.00	\$19,200.00
53	84"	50	\$444.00	\$22,200.00
54	90"	50	\$495.00	\$24,750.00
55	96"	50	\$545.00	\$27,250.00

13. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

INSIDE Diameter in Liner in In @ s.

<u>District 1</u> - Boone County, Clay County, Kanawha County, Mason County and Putnam County

	Inside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

District 2 - Cabell County, Lincoln County, Logan County, Mingo County and Wayne County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

13. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

INSIDE Diameter in Liner in Inches.

<u>District 3</u> - Calhoun County, Jackson County, Pleasants County, Ritchie County, Roane County, Wirt County and Wood County

Item #	Inside Diameter of Liner in Inches	Estimated Quanti(🗘	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

<u>District 4</u> - Doddridge County, Harrison County, Marion County, Monongalia County, Preston County and Taylor County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50 (*)	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

13. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s)

INSIDE Diameter in Liner in Inches.

<u>District 5</u> - Berkeley County, Grant County, Hampshire County, Hardy County, Jefferson County, Mineral County and Morgan County

	Inside Diameter	Estimated	Unit Price Per Foot	Extended Cost
item #	of Liner in Inches	Quantity		
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

<u>District 6</u> - Brooke County, Hancock County, Marshall County, Ohio County, Tyler County and Wetzel County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

13. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s) INSIDE Diameter in Liner in Inches.

<u>District 7</u> - Barbour County, Braxton County, Gilbert County, Lewis County, Upshur County and Webster County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

<u>District 8</u> - Pendleton County, Pocahontas County, Randolph County and Tucker County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

13. Bid Schedule

6612C014

ISCO Industries, LLC.

Price per foot for Non-Stock Length(s) INSIDE Diameter in Liner in Inches.

<u>District 9</u> - Fayette County, Greenbrier County, Monroe County, Nicholas County and Summers County

	Inside Diameter	Estimated	Unit Price	Extended
Item #	of Liner in Inches	Quantity	Per Foot	Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00-
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00

<u>District 10</u> - McDowell County, Mercer County, Raleigh County and Wyoming County

Item #	Inside Diameter of Liner in Inches	Estimated Quantity	Unit Price Per Foot	Extended Cost
56	60"	50	\$344.00	\$17,200.00
57	66"	50	\$383.00	\$19,150.00
58	72"	50	\$432.00	\$21,600.00
59	78"	50	\$514.00	\$25,700.00
60	84"	50	\$594.00	\$29,700.00
61	90"	50	\$662.00	\$33,100.00
62	96"	50	\$729.00	\$36,450.00